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mm screw term, 6pos, vert
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i512PCB -- Strain Gage Wiring Box (Vref and Vref/2) - 33Vref
LELN L 33Vrel2 2 12
pl_65Vref] SVpwr
Chl1.24] RED TRACES: 0.05" width. 0.05" space dnternal laver, Gnd Gaurd If Possible pSV_user Chl+ 4
Ch[1..24] — =
FORK2 GND 46 ||' Ch2 Ch2- S
- Fid44_Uio[25.28] Llddd Uiol2s 28] Gnd 6
= Conn: 3.81mm screw term, 14pos, vert
J1 JI1 Conn: 3.81
1 Chl . channel_trace Hd44 Uio28 28 Uio 4
%};‘]; 2 Ch2 = zg 8“: channel_trace 44 Uio27 27 Uio 3 3.3Vref.
Ch3+ 3 Ch3 Net Ch’s‘s channel_trace Hd44 Uio26 26 Uio 2 3.3Vref/2 2 3/4
Chd- 4 Ch4 Net (,I;“ channel_trace Hd44 Uio25 25 Uio 1 SVpwr 3
Chs+ 5 Ch5 ) Net (fl s channel_trace 24 Ch24. 0 Ch3 Ch3+ 4
Ché- 6 Cho Net (‘hs; channel_trace Ch23 Ch23+ 9 Ch4 Ch4- E
7 Ch7 LS channel_trace Ch22 Ch22- 8 Gnd 6
Ch7+ z Net Class = =
Ch8- Ch8 =) Nt Class channel_trace Ch21 Ch21+ 7
Cl “.o. Cchannel trace Ch20 Ch20- 6 J12 Conn: 3.81
Ch9+ Net Class
0 Chl10 3 channel_trace Ch19 Chl9+ 5
Ch10- 3 Net Class = =
Ch " channel_trace Chl8 Ch18- 4
Chl1+ Net Class <
2 Chl2 - channel_trace Chl17 Chl17+ 3 3.3Vref 1
Chl2- Net Class 5
3 @ 3 channel_trace 2 3.3Vref2 2 5/6
Ch13+ 3 Net Class =
4 Chl14 = " channel_trace 1 SVpwr.
Ch14- Net Class S
E Chl5 3 channel_trace Chs Ch5+ 4
Chl5+ Net Class »
6 Chl6 3 channel_trace Cho6 Cho6- S
Chl6- 7 Chi7 Net Class - —— Gnd
Chl7+ - = ——
Chig.- 18 Chl8
Ch19+ 9 Ch19 6 J13 Conn: 3.81
Ch20- —2 0 Ch20 3.74K means "i512"; & not "i510" & not "i51 I“SV I 5
21 Ch21 ResTF: 3.74K .06W 0.5% 0803 poV_userf 4
Ch21+ 5
22 Ch22 R1 1 [ 3 3.3Vref 1
Ch22- p12V_user} NIEE
Ch23+ 2 Ch23 - 2 3.3Vref2 2 718
Cho4. (24 Ch2d mI2V userp—e—L] SVpwr &
N Conn: 3.81mm screw term, 6pos, vert Ch7 Ch7+ 4
Uio2s 2 5 Hd44 Uio25 120 Ch8 Chg- 5
Uio26 —25 Hd44 Uio26 Gnd 6
Uio27 27 Hd44 Uio27 BLUE TRACES: 0.0125" width, 0.0125" space betw¢en traces
10 28 Hd44 Uio28 R-id varies for i510, i511, i512, i513, i51x 714 Conn: 3.81
Uio28 5 .
GND —2 9 III SenseRid R-id Ohn_xs
! 1,820 --i510 STP20, TC
30 SenseGnd SenseGnd R3 2,740 --i511 BNC8 3.3Vref
orenseGnd 51 Semse 3 3V oV Res: 1001 1Y 0805 |||' 31740 - i512 Vref&Vref/2 S3Viels 2] 910
SenseTherm 32 SenseTherm (readback vRef/2 for testing) Inl 65Vref 4,870 --i513 2? SVpwr 3
Senserid =33 SenseRid 2 Cho Chot 4
Sense 3 3V R4 25mil direct to 3.3Vre! Ch10 Ch10- E
23,3V user 24 33V +- 01V Res: 1001 1% 0805 Gnd 6
3 3V _user 85| 1 1p3 3V user
P e |36 LIELENE JI5 Conn: 381
|8 37 p3_3Vpwr Trace is 0.250" wide, with .025 space
pov.user 5 DVRuser No series resistance between vReg and Hdd4 due to Voltage oy X
plzv’ o 39 6 s ONE CANNOT PUT CAPS ON HERE WITH ESR < 0.3 oHMsSINPUT's VRef, OUTPUT: Vref/2 3.3Vref 1
IEIZV_Eser 40 P u GREEN TRACES: 0.075" width, 0.0125" space, internalllayer 3.3Vref/2 2 11/12
ml2V user 41 mi2V user 2:1 Voltage Divider, Resistor Ratio = 1:1, Input=3.3V, Output=1.65V SVpwr
— = 57 i Rnet_TF: 2R, Sot23, P1=R1=15K, P2=R2=15K, 0.1%, 2ppm-C ratio Chl1l Chll+ 4
oD =22 o |, LENES c1 Cap: 1uF 2MHz 10% 16V 0805 RNI Chi2 Chi2- 5
GND 43 || c3 Cap: 0.1uF 8MHz 10% 50V 0805 _| 33Vref Analog Gain =+1, Voutl = Vinl+ Gnd 6
GND 44 IC: OpAmp 5uVos SOT23-5 #AD8628ART
15K +- 3K Simulator says this is stable J16 Conn: 3.81
||' RI Us
"
ml2V_user| 12V /1000 ohms = 12mA, 144mW
FORK! GND 45 us c7 Cap: 0.47uF 3MHz 10% 25V 0805 Res: 1K .1W 1% 0805 3.3Vref 1
- C4 Cap: 0.1uF 8MHz 10% 50V 0805 1 R20 AN Vout1 pl 65Vref 3.3Vref2 2 13/14
15K +- 3K 1.65V +- 0.2% SVpwr. 3
Conn: Hd44, RtAngle, Female ||' R2 C20 2ppm/C typ temp drif§ Chl3 Ch13+ 4
Right Angle, PCB Mount Cap: 0.001uF 5% 50V 0405 Chl4 Ch14-
JAA 63 ooy - Reduces osc w/ capacitivg load Gnd
plv. C8 Cap: 0.47uF 3MHz 10% 25V 0805 0.001*1k=1uSec Tc (175KHz BW)
C6 Cap: 0.1uF 8MHz 10% 50V 0805 C21 | J17 Conn: 3.81
Cap: 0.47uF 3MHz 10% 25V 0805 ResTF: 3.74K .06W 0.5% 0603
||' AT*15K=TmSec Tc (24 Hz BW) RI12
9 3.3Vref
Cap: 1000uF 0.09+-0.02esr 20% >=6.3V 8mmDia 3.5mmPins 3.3Vref/2 2 15/16
33V 1 Nichicon #RL80J102.. datasheet says long lead is (+). SVpwr 3
p2_oV_userf _ however I tried cap in reverse and it seemed ok. Chls Chl5+ 4
+ Chl6 Chl6- S
c2 Too little esr and vReg ic oscillates. Gnd 6
Too much esr and it does not filter well.

Cap: 1uF 2MHz 10% 16V 080F

T

We did testing and these caps are ok.

I
GND I|I-

CS
Cap: 0.1uF 8MHz 10% 50V 0805

J18  Conn: 3.81

mm screw term, 6pos, vert




